



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{1}{5}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right) - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{5}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{5} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{4}\right) - \frac{1}{6} =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{1}{5}\right)^3 + \frac{1}{5} = \frac{26}{125}$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{6}\right) = \frac{37}{216}$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{2} = \frac{59}{64}$$

$$\left(\frac{1}{6}\right) - \frac{3}{5} = \left(-\frac{13}{30}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} = \left(-\frac{3}{20}\right)$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{2}{5}\right) = (-1)$$

$$\left(-\frac{3}{4}\right)^3 + \frac{2}{5} = \left(-\frac{7}{320}\right)$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{6}\right) = \left(-\frac{2}{3}\right)$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{67}{180}\right)$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(-\frac{3}{5}\right)^3 - \frac{3}{4} = \left(-\frac{483}{500}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{1}{2}\right) = \frac{33}{64}$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{4}\right) = \frac{21}{16} = 1\frac{5}{16}$$

$$\left(\frac{1}{5}\right) - \left(-\frac{3}{4}\right) = \frac{19}{20}$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{5} = \frac{13}{40}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{25}$$

$$\left(-\frac{3}{4}\right) - \frac{1}{6} = \left(-\frac{11}{12}\right)$$